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A company is moving to the cloud and wants to enhance the provisioning of compute, storage, security,
and networking. Which of the following will be leveraged?

A. Infrastructure as code

B. Infrastructure templates

C. Infrastructure orchestration
D. Infrastructure automation

Answer: D

Which of the following services would restrict connectivity to cloud resources?

A. Security lists

B. Firewall

C. VPN

D. Intrusion detection system

Answer: A

Which of the following cloud characteristics helps transform from a typical capital expenditure model to
an operating expenditure model?

A. Pay-as-you-go
B. Elasticity

C. Self-service

D. Availability

Answer: A

Which of the following DevOps options is used to integrate with cloud solutions?



A. Provisioning
B. API

C.SOA

D. Automation

Answer: B

A document that outlines the scope of a project, specific deliverables, scheduling, and additional specific
details from the client/buyer is called a:

A. statement of work.

B. standard operating procedure.
C. master service document.

D. service level agreement.

Answer: D




